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Section Marks : 100

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 265448701
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 26544817199 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a characteristic of a good classroom environment?

& BI9F 7S DB &SP BEKS K PESBee ©Fesin?

Options :

Disruptive and chaotic

Dreso, Hodsitgo

1. %

Organized and supportive

é?séi‘;}%éo, HBHITHO
2. © ¢ SR

Unstructured and contusing

- DB)BT, BoDdBHED

Focused on punishment

~ BBodtom e iy
4, % =es e

Question Number : 2 Question Id : 26544817200 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A learner with a strong visual learning style might benefit most from:
oY )T @ggd 30 Lo wggdtHth DD 8" ¥ (HAresHo
ErotSay

Options:

Extensive lectures and note-taking
DS Esa)gRreD, 55@:3:, &5 %8



Group discussions and debates

FBrirE Sten, BDEHS

Diagrams. charts. and visual aids

Bgre Dlgren, DHéren, 58 DFEadseen
3.¢ z ™

Kinesthetic activities and role-playing
8INAE Ssen, arge AT
4, %

Question Number : 3 Question Id : 26544817201 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A noisy and disorganized classroom environment can hinder learning. This 1s a
factor affecting teaching related to:

BOBBE’, @HHBD SBHBKG HowEstnsn werrds ©%os ab &
BI0% 55 Herddo John woddHw:

Options :

The learner's age and cognitive development

©@gTgod) HoHY), ‘éoﬁmééé @@é&%

1. %

The quality of instructional materials

S5 HOESEDe Teag s

The learning environment
@I 20°GHBERRD

The institution's admission policies
Fo’o;g 5554 Dgraren

Question Number : 4 Question Id : 26544817202 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



When comparing off-line and on-line teaching methods. a potential disadvantage
of on-line learning might be:

©5HB%, o588 & a’:r:géje_}‘o’m DenShh), eogs ogrsdo el £00
@I (HBEres:

Options :

Increased student engagement and interaction

DBAS Dl AoNED ok, DB S5

Lack of access to technology and reliable internet

FOEBESD, Navlaley 00653655 edsedo B0
2.

Emphasis on teacher-centered mstruction

505 éo@é&é S5 ﬁ%ﬁﬁé

Limited course options and flexibility

hela T ] gﬁti)rj soaBen, ‘éégmﬂ&mé Den

Question Number : 5 Question Id : 26544817203 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A potential disadvantage of relying solely on ICT-based teaching support systems

could be:
ICT-e3578¢8 Seseare aiycée‘_ég a’:lfge'i%_;'.g st Hie Hod LN @350

(H8Ereod
Options :

Increased student engagement and interactivity

2BAS Do donEaotn B HEYE S8

Lack of access to technology and reliable internet for all students

@058 Sjmn-étié)@é D& D058 2053, FoBBESD THBEDEDE
2. ¥

Emphasis on traditional lecture-style teaching
Holerdh ehamd 30 S DHED SoN



Limited options for assessment and evaluation

4 % 000D, rergosH) HBHE edsedren

Question Number : 6 Question Id : 26544817204 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The post-positivist approach acknowledges the role of:

DG B G S BIDD T8 B KHBROE:

Options :

Only quantitative data and statistical analysis

HBEres Barodsm, Kerod AN &r|Eah

The researcher's subjectivity in shaping knowledge

DeparR)) Erothes® HBE K ariEs
2.4 % -

Purely objective facts and observations

ginSorr ApFard ardaren, 568ex5en

Standardized testing methods only

Brirdto soms HOY HEHen SrED

Question Number : 7 Question Id : 26544817205 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The choice between a positivist or post-positivist approach depends on:

cﬂ“ﬁﬁ&}%, @B%—%‘Jﬁﬁ&}% &850 ity ons B0 ardHd Gotnod:

Options:

The researcher's personal preference only

| SOEUOD HBAS @rerisss SmED

The specific research question and objectives

@é&é HBS ST (&) e eggen
2. ¢



The availability of funding and resources

@0&emend’ &) Dghen, Hddoen

The researcher's level of experience

5885550 el é)ﬁ}van

Question Number : 8 Question Id : 26544817206 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Formulating a clear and focused research question is crucial in the step of:

& BIDD BEE° D) B)a oD 568 (& Scird Sasnés Songygadon:

Options :

Selecting the research method

5688 SEBD JoLHE Ko

Reviewing existing literature

B8 et DGO

Defining research objectives
58805 ool JBR0DHIH
3.¢

Data collection and analysis

Saeod Db, HAses mﬁﬁé}?{g@é&
4. %

Question Number : 9 Question Id : 26544817207 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Drawing conclusions based on the analyzed data and addressing the research
question occurs during the step of:

S 55 S},ﬁﬁl@ﬁ)ﬁ SEod0 wgrdore RnNoen, 5880 (DD asaram
BaRE0 aBIHE0b :

Options :
1. %



Formulating the research hypothesis

588 ae BB SSSreBB %0k

Interpreting the results

SDare DS Dohed
2.

Writing the research report

508 BEFGK (arain

Disseminating research findings

58888 Hhared aﬂggjnécﬁnéa
4, %

Question Number : 10 Question Id : 26544817208 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A properly formatted reference list should include:

Koo SoiHaNS B33 ders® 1 domed

Options :

Only the most important or recent sources

eeP S0gKahd Beer Surreren S|8ah

1. %

All sources cited in the text. arranged alphabetically

Egj@ﬁ SP20DW0 eof) dureren , ©FS Bodns® ©5)
2. ¥

Sources listed in the order they appear m the text

ngfﬁﬁ 00000 Ddore B0 é%ﬂ@@’s DY @ond sireren

3. %
A mix of both alphabetical and chronological order
s [Badn, srolBhine Do[Fosme®
4, %
Sub-Section Number : 2
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Question Shuffling Allowed : No



Question Id : 26544817209 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (11 to 15)
Question Label : Comprehension

Note : Answer the questions 11-15 by reading the following passage:

K&RE: (8ot asabid Sdrabo erbore 11-15 HERH Sdrgeara (dhot.

A delightful stroll along the left bank of the stream for about two miles brought us to Roslin Castle,
situated on a rocky promontory high above the river. At the point of the peninsula the river is
narrowed by a large mass of reddish sandstone over which it falls. When flooded this becomes a
beautiful cascade.—whence the name, *Ross.” a Gaelic word meaning promontory or jutting rock.
and “Lyn.” a waterfall —the “Rock of the Waterfall.” The Esk. where it forms the cascade. 1s still
called “the Lynn.” The view from the promontory is one of the most delightful to be imagmed.
The banks are precipitous and covered with a luxurious growth of natural wood. The vale seems
to be crowded with every possible combimation of trees and cliffs. foliage and sparkling stream,

that nature can put together to form a region of romantic suggestion.

(amsieii Sond Oty Both ) Ho8%HKS bt ) B0 Bk Day0b
©0 368 by der (H:P6S° sob. BiiEoN 38, 28 BH sfotTrony HNHEP BB
Spbironod RS B8ken HNHIH ©b HoBEHY oD Hr6E0d. wohBed
f) 2% “Ross” 2B 2% RondE Hiskm. wd ©8in B S0t SN 4o, D
@08} asvardin- avards) do. © ), 20aEe Sel Josmid a@-ﬁg “DR”
epirl. ® S O BilroSRE Trer HoLEHIG. © Key GEEHHB, Joe
dovod Job sotnod. usish tﬂ%onv Dot 3tp, JEYHD @5?(55@_356 Sotie Qoldano
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(arodore D8)iHob.

Sub questions

Question Number : 11 Question Id : 26544817210 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Roslin Castle 1s located on a/an

SPEDS BB &8

Options:

Flat ground

- rsnede gieab



Valley
Sah

Elevated rocky terrain

Sindae Ber geiisin
3. O

Forest

433&*}{5&

Question Number : 12 Question Id : 26544817211 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The phrase. “When flooded this becomes a beautiful cascade.”The word ‘cascade’
means,

“DESen HNBID ©b DoBBDHS cascade e SrBIEHOH” & DD

cascade e
Options :

Biver

BRI
1. %

Waterfall

5 DT T AN

Pool

3 % 8%

Lake

e e
4w ﬂérﬂc\j

Question Number : 13 Question Id : 26544817212 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The banks of the river are and covered with rich vegetation.
e 38 Hép: HE H0D8E° Emb mer dotrow.

Options :



Steep
Qérore

Slippery

Ty

Mossy
g ToH8d

Rough
Ebdore

Question Number : 14 Question Id : 26544817213 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The castle derived its name from blending the two words

castle @5 Ho Bo& Y |Fosd &D0D08.

Options:

Rose and Lyn
1. %

Rosy and lyn
2. %

Ros and Lin

Ross and Lvn
4.+

Question Number : 15 Question Id : 26544817214 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A wisit to this region leaves a Lmpression,

© (P08 HoBES S wgird EDAK0B.

Options :
1. %



Dreadful
alenlalteXy iy

Dreamy

o m
e

Fe)oeT

Daunting

Eaahobne
2de il

Dreary
Ao PuEv A e

Sub-Section Number : 3
Sub-Section Id : 265448703
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 26544817215 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The study that deals with physical distance and 1ts influence on human mteraction
and communication 1s called

F8E o, Hrdd aoboeEs HYdrdo HBod 3630

Options :
Kinesics
1. %

Proxemics
2.

Chronemics
3. %

Phonemics

Question Number : 17 Question Id : 26544817216 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



To avoid miscommunication 1 an mntercultural conversation. one has to avoid
being .

Roxpshe gy e SByos° 385 H85EH0 Bhorr sowetrd) Bhowe
Joireod .8 358 ™ 00 VoHEREL.

Options :

Empathetic
e® BOA &oéo

Sympathetic

- 08 ¥OA SoXto

Insensitive

“’m?\&eﬁom sosHone sottio
3.

Sensitive
”n’i}?{}&éonﬂ &oito

Question Number : 18 Question Id : 26544817217 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

from the teacher fosters motivation and academic

accomplishment among the students.

Garegeind Sod &m@%ﬂéﬁ (®8es, ERWET FHosEo

@88 S0b

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to
all candidates.

Options :

Positive feedback
Fre)E 5 EerE

Monitoring

a’:uééf)gsa



Tutoring

5 éxgeaBoh
Assignments
B )NDOLY B0
4.

Question Number : 19 Question Id : 26544817218 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a conversation. use of mapproprate words lead to barrier.

SB)5° affosSEEHS Brten ©gos eorf S008.

Options:
Physical

ge ey

1. %

Social
rarRd
“

Environment

éuﬂga’}ém

Linguistic

&) oﬁéi:oh;g

Question Number : 20 Question Id : 26544817219 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Magazimnes and periodicals are the examples of media.
Sogii@Rn, a°8 DHB8en SeEgarRE eresedesen.
Options :

1. %



Social

e
Print
. Sm|Botadd
Traditional
arolKraig
3. %
Digital
4 % E2érd

Question Number : 21 Question Id : 26544817220 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Find the wrong number in the senies 1850, 1050, 650. 400. 350, 300. 275
Eos0: 1850, 1050, 650, 400, 350, 300, 275 &° ) S0 LS50S

Options :
650

Question Number : 22 Question Id : 26544817221 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A said pomting to a person. “He 1s the only brother of my father’s mother’s daughter”
How 15 the person related to A?

A 2,8 23589 TR @er e9m) ). "e0edel) o3I TP TP 5E) SretO8 IS4
FOROR" & 555 A8 Jer D000 EOR &) ?

Options :



Brother

FeATe I D
1. %

Father
2. v B0

Unele
- @0t

Nephew

abdentHd
4, ®

Question Number : 23 Question Id : 26544817222 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A and B start from the same point simultaneously at speeds of 25 KMPH and 35 KMPH
respectively. What will be the distance between them after 4 hours if they are moving in
opposite directions?
A B0 B 2,8 2rowod 0o 506 25 KMPH <065 35 KMPH

308 (rBogHEt). st B0 BIS Eenedd) QoS 4 106
ST b 570 DA Q00 )0eh?

Options :

1% 220 km

240 km
2.

250 km

230 km

Question Number : 24 Question Id : 26544817223 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The average ages of the students of three colleges A, B. and C are 30. 25 and 15 years

respectively. Find the weighted average age of the students mn years if the ratio of the
strengths of A. B. and C 1s 1:2:4

A, B 00050 € Surch Exraroro e OB S SENT 30,25
S0BOH 15 D0 YT, A, B 0BCHD € Hogse ) 1:2:4 e900S

DT Hien S0H )0 HodEHied® LLsos.

Options :

35
1. %

Question Number : 25 Question Id : 26544817224 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A sold his vehicle at a loss of 9%. If he sold 1t for Rs. 75 more, he would have made a
profit of 16%. What 1s the cost of the vehicle?
A 5 TETTR)), 9% T8 JEON0TTE. . 75 5038 50, €918 e9ehadd

16% 7350 EP0B GOGID. Tari0 OO J0s?

Options :
1% 100

5 % 120

3
3 % 280

4 300

Question Number : 26 Question Id : 26544817225 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



In total 150 students n=20 1s neither mathematics nor chemistry opted. The number of
students passed in mathematics and chenustry are a=40 and b=80. The number of
students opted both g 1s

Fwdo 150 H0d dohes® =20 0B Kldo R, BY M KEYEN 60

SrD00. Kddos’, Bngs® &8%BS a8 Somgen 2=40 and b=80
& Toth JIgHod QohHBR) (g) Sogyg o ?

Options :

10
1.4

3. %

30

Question Number : 27 Question Id : 26544817226 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Statements:

DabEew:

All trees are green.
o) 30 sHHHI.
All green things are fresh.
o)) e DpHen areed).
No tomato 1s tresh.
8 635 arer st
Conclusions:
SwAoY) e archimn.
I. All trees are fresh.
o)) dén acer.
II. No tree 1s tomato.
D Bty LSS oK.
No tomato 15 green.

& exdmest @é}é@ﬁ)&: 5.

I1I.

Options :
Only I and III follow.

Only II follows.

Only III follow.

1. IT and III follows.
4. &

Question Number : 28 Question Id : 26544817227 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



An informed fallacy in which the conclusion of an argument 1s stated or assumed in any
one of the premises 1s known as:

& Bod BEP 2.8 g0 egrdorr arddE o) ﬁ}ﬁ“&émo 8% &Srodéo
30 (@ &% ore 2OKBoSHD,

a. Begging the question
LY SHBHD @gnoiﬁcio

b. Circular argument

SBcharisd

¢. Ignoratio elenchi

BORGr 801
d. Petitio precept
H8B@ e 1D
[#]
Choose the correct option from the following:

RO @) BB JoSE Rn:

Options :

a.bandd
1.¢

¢ only
2. %

a andc
3. %

b.candd

Question Number : 29 Question Id : 26544817228 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

"If 1t rains. then the drought will end. The drought has ended. Therefore. 1t ramed".
Which kind of fallacy does this commit?

Sooen &i}a‘i@ EHR) ®os0 @@oh. B85 ©@oddhod eohden Hoen
£Bavom. mothe’ i) (erod BEDB.

Options :

Inductive fallacy
eatians (grod

1. %



Abductive fallacy
©55F8e (gPod

Informal fallacy

3 % ©fche grod

Deductive fallacy

DD 5r0d

Question Number : 30 Question Id : 26544817229 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If the word ‘LIBERAL " is coded as “MJICFSBM 1n a certain coded language then the
word ‘REDUCTION" coded in that language as

‘LIBERAL’& ‘MICFSBM' e 8°80i0d%), ‘REDUCTION” & aee &80
Jarth.

Options :
. EDCTBSHNM

7 SFEVDUIPO

2.
SFEVCTIPO
SFDUCTIPO
4, %
Sub-Section Number : 4
Sub-Section Id : 265448704
Question Shuffling Allowed : No

Question Id : 26544817230 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)
Question Label : Comprehension



Note: Answer the questions Q.31 to Q. 35 on the basts of the information given below.

K&RE: (Bodd sl direrto serbore Q318006 Q.35 B Sirgraren (Erdbod.

The percentage of students passed in a scholarship exam conducted for students of class 6 to 10 in
a district,
o i ¥, [ - 5y, o i =
82 6008 10 S84 Ao FL000 583 ddsrad &edBl dTdho Téo.

B
ad

(lass | No. of Fatled | % of students Passed
6 145 80
7 174 70
8 147 65
9 144 55
10 165 70

Sub questions

Question Number : 31 Question Id : 26544817231 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

How many students from class 7 passed in the exam
- g = & o = &,
20eh 0O Drsen 7 HEKS oA HOE S sedeoirid

Options:

| % 362

406

249

Question Number : 32 Question Id : 26544817232 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The most number of students who wrote the exam are from class
= -4 oo - - f . | = . e
HOE TrAS IO DB 0B DI ihen o) SSNedd Todda &

Options :

1.¢ ¥



3. %

4% 10

Question Number : 33 Question Id : 26544817233 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The number of students who failed in class 9 is what percentage less than that in class 10
955 5SROV 0N DTS HowE HE 5K E0T) NOe TS0
50709

Options:

. x 108

Question Number : 34 Question Id : 26544817234 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What s the difference between the number of students from class § who wrote the exam
and the number of students who passed the exam from class 7

8 535 (0B HOF TN DO HoBE SO 7 5SiHed oG HBL S
&BDBS DT H0DE D BE DME?

Options :

Lo 14



58

Question Number : 35 Question Id : 26544817235 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the total number of students who wrote the exam 1in the district from all the given
five classes?
276 0SB0 D BEHRO HOD HOF TS Jerde) How: dOes?

Options :

1% 2265

2470

2595
4. &

Sub-Section Number : 5
Sub-Section Id : 265448705
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 26544817236 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 15 called the process of starting and restarting a computer?

Soaygt, [Brodohetd, Hlrdodoiheh 207 (BB D & gore Henrd

Options:
Bus

Cache

3 % Bios

Boot



Question Number : 37 Question Id
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

One kilobyte 1s equal to......
2.8 8&° BeES edre

Options :

"
1 1024 byte

1000 byte
E

512 byte

64 byte

Question Number : 38 Question Id
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

: 26544817237 Question Type : MCQ Option Shuffling : No

: 26544817238 Question Type : MCQ Option Shuffling : No

What is called the key of the keyboard from F1 to F12?
F1i08 F12 585 8658 Ko 8 o aor Heopth?

Options :
Space Key

1. %

Special Key
2. %

Delete Key
3. %

Function Key

Question Number : 39 Question Id : 26544817239 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

Which scanner 1s used in the banking sector?

080 Solfod® add@rRo 55&}65?

Options :

MICR
1.¢

OCR
CAT

, & OMR

Question Number : 40 Question Id : 26544817240 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Encoding or scrambling data for transmission across a network is known as:

8, B8 o Beroa) HowodHes Edor, [Promd Sasne

Options:
Decryption
1. %

Protection
2. %

Detection

Encryption
4.

Question Number : 41 Question Id : 26544817241 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The annual range of temperature i the nterior of the continents 1s high
compared to  coastal areas. What 1s/are the reason(s)?

pocee She FrodHE)Ba &EPHS a5 Sarosre K08 QENHT Gotnod.
selearen Q&b ?

Options :

Thermal difference between land and water
280, HA Ay ﬁ@ a)gesegRoain
1.9

Variations mn altitude between continents and oceans

BOTED), Ja(EPe DL &) Seen

2. %
Presence of strong winds in the interior
e "8 HdTre s
3. %
Heavy rains in the mterior as compared to coastal region
&Y |grosre¥od, e gd ozen
4. %

Question Number : 42 Question Id : 26544817242 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following pollutant gases 1s not produced both naturally and as a result of
mdustrial activity?
& BiH3 B FomHeE® OB Hibeor 520, aRB(FenY &8s B el
668 5oh
Options:

Nitrous oxide
1. %

Methane

Carbon dioxide
3. %

Chlorofluorocarbons
4.«



Question Number : 43 Question Id : 26544817243 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following pollutants 1s the major cause of respiratory disease?

GRS g5y ool S BI0D é@éﬁﬂ@@ﬁ 26 Hngy s*Been

Options:

Nitrogen oxides
1. %

5 % Carbon monoxide

Suspended fine particles
3.

Volatile organic compounds
4, ®

Question Number : 44 Question Id : 26544817244 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The dominant source of pollution due to oxides of nitrogen (NOx) in urban
areas 1s....

Héges (Frozred’ JE'ad obpthe Sod «h¥ Sok S5 08
Options :

Commercial sector

aﬂaﬁaﬁ Bolism

1. %
Road transport
5% Sarea
2. “
Energy use in industry
$BEed” ¥8 DAKSED
3. %



Power plants
5% aroén

Question Number : 45 Question Id : 26544817245 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following natural hazards 1s not hydro-meteorological?
& BIHH Dre: HERS soBzest 06 IRE - BBATTerRES 52D ?
Options:

Snow avalanche

B0 Soareoen

1. %
Sea erosion
2. ®
Tropical cyeclone
&gishotie e0gren
3. %
Tsunami
0PED
4.

Question Number : 46 Question Id : 26544817246 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which among the following is the Ancient University?

81505 &P Hordd DEErrgedhin 2B ?

Options :
Lalitgiri
1. %
Nalanda
2. ¥

3. %



Ratnagiri

Udayagin

Question Number : 47 Question Id : 26544817247 Question Type
Display Question Number : Yes

: MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Education as a subject of legislation figures in the.......

§Ji5§ 2.& %D DAchore BIHD D& Einwrnod
Options :

Union List

. Bolt erdee

State List
U‘*%ﬁ;{ aTod)eme

Concurrent List

3 ¢ 636 erde

Residuary Power

DADR DB

Question Number : 48 Question Id : 26544817248 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

According to W.H.O. waste generated from disposable items such as hand

cloves, saline bottles etc. are disposed in Tins .

W.H.O. se85m 5$6 DAHKHBSBD S8:hden, tor., D8S i,
288 daren, 3., & Bord HeE® ar0rgD.

Options :
Yellow

Y.
adedd
1. % =



Blue

5 % SHero
Eed
e
3 @ PV e bs)
White
SBenad)
4, %

Question Number : 49 Question Id : 26544817249 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 15 the primary focus of Education for Sustainable Development?

EoSarAostentd @@ég},gﬁ D&y D) (Beed Y DENEIOEI?

Options :

Teaching traditional ecological knowledge

FPoITradE HogHtes DRy FBohe

Highlighting the importance of economic growth

057950 [@raingye (Hangorre Srsheo

Equipping individuals to address social. economic, and environmental

Challenges

a2, ﬁgé, Soegtes éaﬂ'ﬁqﬁ} DD PHEHD (Heses “pﬁa’a&fgo JaSné
3.¥

Preparing students for traditional careers
. DergBieh 355088 et SHEo Hasné

Question Number : 50 Question Id : 26544817250 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



In order to be effective in influencing government policy. interest groups

require. ...

280 dgrared, ﬁvgéoﬂv Go%Nen (Herddo Tanbd 6k Hinted

2o) Seard).

Options :

Money and expertise

G50, ®R0IHIW
1.¢

A large number of members

@fHE ﬁom&eﬁ‘s ghgen
2. %

A permanent headquarters
TS (PN sPTRgRoEin
3. %

Access to media outlets

SHBasr ?:]Of&:,ﬂ e0tDePeDn
4,

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Section Id :

Section Number :
Section type:
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 26544817251 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Paper II

265448228
2

Online
Mandatory
100

100

200

0

1
265448706
Yes



Which state of India has recorded the highest number of Ramsar sites?

Options :

Tamil Nadu
1.9

Gujarat
2. %

Jammu and Kashmir

Assam
4, %

Question Number : 52 Question Id : 26544817252 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following statements:
1. 22nd April 1s celebrated as Earth Day every year.
2. The theme for Earth Day 2023 is Planet vs. Plastics.

Which of the above statements are correct?

Options :

| % 1 only
2 only

2. %

Both 1 and 2
v

Neither 1 nor 2

Question Number : 53 Question Id : 26544817253 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The species named ‘Svil/ipsimopodi bideni’ recently seen
i the news 1s related to?
Options :

An oldest-known relative of octopus.
1.9

A new species of salamander.

2. %

A tiniest group of primates in the world.
3. %

A wasp species in the Andean cloud forests.
4, %

Question Number : 54 Question Id : 26544817254 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
According to the IUCN Red List. Asian elephants are classified as?

Options :

Endangered

Critically Endangered

2. ®

Extinct i1 the Wild
3. ®

Vulnerable
4. %

Question Number : 55 Question Id : 26544817255 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following Wildlife Sanctuaries (WLS) 1s situated near the Hirakud dam?



Options :
- Gahirmatha WLS

Nandankanan WLS
2. %

Baisipalli WLS
3. %

Debrigarh WLS

Question Number : 56 Question Id : 26544817256 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Tropical semi evergreen forests are found in the region having rainfall

Options:
= 3000 mm.

2000 — 2500 mm.

2. ¥

12002500 mm.
3. %

800-1200 mm
4. %

Question Number : 57 Question Id : 26544817257 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following flora and fauna shows the presence in Peninsular India
that explained the Satpura hypothesis?

Options :

Chinese.



Malayan.

2.%

African.
3. %

Mediterranean.
4. %

Question Number : 58 Question Id : 26544817258 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The Ganga River Cleaning program has been collaborating with Germany. Germany has
been known for cleaning which of its river?

I. Danube
II. Rur
III. Rhine
Options:

I only

1. %

IT and IT only

2. %
IIT only
3.9 ?
I IT and III
4. %

Question Number : 59 Question Id : 26544817259 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Match the contaminant in Column — I with the disease in Column — II:

Column —1I Column — IT
a. Mercury 1. Methamoglobinemia
b. Nitrate Nitrogen 11. Itai Itai
¢. Cadmium 111. Silicosis
d. Coal 1v. Minamata
Codes
Options :
: a-11. b-111. ¢-1v. d-1
a-111. b-1v. ¢-11. d-1
2. ®
a-1. b-11. ¢-111. d-111
3. ®
a-iv. b-1. ¢-i1. d-iil
4, &

Question Number : 60 Question Id : 26544817260 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The most suitable range of wind speeds for wind power generation 1s

Options :
1 —5mis
1. %
A _ 3
5 @ 412 m/s
10 — 20 m/s
3. %



20—-50 m/'s

Question Number : 61 Question Id : 26544817261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which environmental legislation in India makes it mandatory to get the prior approval of
the Central Government for diversion of forests lands for non-forestry purposes?

Options :
- Indian Forest Act, 1927

Environmental (Protection) Act. 1986.
2. ®

Forest Conservation Act. 1980
3.¢

The Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of
Forest Rights) Act. 2006

Question Number : 62 Question Id : 26544817262 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Celebration of 'International world water day' was recommended at the:

Options :

1992, Umited Nations Conference on Environment and Development (UNCED) in

Rio de Janetro
1.4

2002. Earth Summit

2012, United Nations Conference on Sustainable Development (UNCSD) in Rio
de Janeiro



1992. United Nations Conference on Sustainable Development (UNCSD) in Rio

de Janeiro
4, #%

Question Number : 63 Question Id : 26544817263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Hoollongapar Gibbon Sanctuary. recently seen m the news. is located i which state?
Options :
Nagaland

1. %

Manipur
2. ®

Assam
3.¢

Mizoram

Question Number : 64 Question Id : 26544817264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the name of the campaign launched by Prime Minister on World Environment
Day 20247

Options :

Ek Ped Maa ke Naam
1.4

Vriksh ka Sanrakshad

Ghar Ghar Vriksh

4% Haryali



Question Number : 65 Question Id : 26544817265 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
What is the TUCN status of ‘Iberian Lynx’, recently seen in the news on 20® June, 20247
Options :

1@ Vulnerable

Endangered
2. %

Critically endangered
3. %

4 % Least concemn

Question Number : 66 Question Id : 26544817266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What does ITCZ stand for corresponding to global wind patterns?
Options :

Inner Tropospheric Convergence Zone
1. %

5> Inter Tropical Convergence Zone

Inner Tropical Continental Zone
3. %

Inter Tropical Continental Zone
4. %

Question Number : 67 Question Id : 26544817267 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is regarded as climate control factor(s)?
I. A Latitude
IT. Elevation

III. Ocean currents

Options :
- I only
IT and III only
2. %
I and III only
3. %

I.1II and III

Question Number : 68 Question Id : 26544817268 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which type of clouds 1s found in the highest altitude of the Earth’s atmosphere?
Options :

Noctilucent

Cirrostratus

Stratus

Cirrus
4, %

Question Number : 69 Question Id : 26544817269 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Name the organisms who can breed only once in its lifetime and then dies?

Options :

Dispersed
1. %

Clumped
2. %

[teroparous

Semelparous
4. v

Question Number : 70 Question Id : 26544817270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following is inter-tidal zone between land and open sea?
Options:
Benthic zone

1. %

Pelagic zone
2. %

Neritic zone

Littoral

Question Number : 71 Question Id : 26544817271 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What is the primary goal of “Green India” mission?



Options :

Enhancing forest cover
1.¢

Industrial growth
2. %

Urban development
3. %

Reducing water usage
4, ®

Question Number : 72 Question Id : 26544817272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT which contain water pollutants and their sources respectively

List] List1I
Water pollutants Sources
a. Oxygen demanding wastes 1. Mine drainage
b. Plant nutrients ii. Modern washing powders and agriculture run-off
¢. Acids ii1. Waste mcineration and toxic dumps

d. Polychlornated biphenyls (PCBs) 1v. Paper mills and food processing units
Choose the correct answer from the options given below:
Options:

a-1v, b-111. c-11, d-1
1. %

a-1v. b-1. c-111. d-11
2. ®

a-1v, b-11. ¢c-1. d-111
3.¢

a-1v. b-111. ¢-1. d-11
4, %



Question Number : 73 Question Id : 26544817273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The term 'biodiversity' was coined in 1985 by

I. A E Haeckel
II. E Odum
ITI. Walter G Rosen

Options :

1 % I only

I and II only

3 ¥ I1I only

IT and IIT only

Question Number : 74 Question Id : 26544817274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Taj Mahal 1s said to be suffering from “Marble Cancer”. What 1s Marble Cancer?

Options :

Brown Carbon

Air borme microbes

Large number of Fungi in Taj Mahal marbles

Acidic rain which corrodes marble
4. &

Question Number : 75 Question Id : 26544817275 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

Which of the following orders of basic processes are involved in succession?

Options :

Invasion -> stabilisation -> completion and coaction -> reaction -> nudation
1. %

nudation - stabilisation -> completion and coaction -> invasion -> reaction
2. ®

Invasion - nudation -> completion and coaction -> reaction -> stabilisation
3. %

nudation -> invasion -> completion and coaction -> reaction -> stabilization
4.

Question Number : 76 Question Id : 26544817276 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The report entitled "Our Commeon Future" was submitted in 1987 by:

Options:

Brundtland Commission
1.4

Food and Agricultural Organisation

Intergovernmental Panel on climate change
3. %

World Meteorological Organisation
4. %

Question Number : 77 Question Id : 26544817277 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Indian citizens to protect and improve the natural environment. including forests, lakes.
rivers and wildlife are embodied in;



Options :
Article 51A
1.+

Article 48A
2. ®

Article 49A

Article 48

Question Number : 78 Question Id : 26544817278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following do not belong to Palacozoic Era?

Options :

Cambrian
1. ®

Carboniferous
2. %

Jurassic
3. ¥

4% Devonian

Question Number : 79 Question Id : 26544817279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The warm water of the central Pacific Ocean slowly drifts towards the South American
coast and replaces the cool Peruvian current. Such appearance of warm water oft the
coast of Peru 1s known as the ------------- .

Options :

El Nino
1.9



ENSO

La Nina
3. %

Southern oscillation (SO)

Question Number : 80 Question Id : 26544817280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The horizontal deflection effect caused by the Coriolis Force 1s

Options:

Greater near the pole
1.9

Greater near the equator
2. %

Equally Distributed all over the earth’s surface
3. %

More near the surtace of the earth and lesser above

Question Number : 81 Question Id : 26544817281 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Name the mstrument that 1s used to measure temperature, pressure as well as humidity at
numerous altitudes within the atmosphere.

Options :

| % Altimeter



Barograph

Radiosonde

Aneroid Barometer

Question Number : 82 Question Id : 26544817282 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
What would “Agenda-21" mean?

. It's a Sustainable Development Goal Action Plan that 15 non-binding and implemented
voluntarily.
II. It's a climate change pact nvolving 20 poor countries throughout the world.
III. It's a worldwide free trade pact including seven developed countries.

Options :

I only
1.9

II and III only
2. %

3 » Ulonly

I.II and III

Question Number : 83 Question Id : 26544817283 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the correct sequence of ecosystems i the order of
decreasing productivity?
Options :

Oceans. lakes. grasslands mangroves
1. %



mangroves, oceans. grasslands, lakes

Mangroves. grasslands. lakes. oceans
3.v

. Oceans. mangroves. lakes. grasslands
4.

Question Number : 84 Question Id : 26544817284 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Time slot for measuring thermal ertia (TT) differences between land and water 1s :

Options:

| % 1000 hrs.

1100 hrs.
2. %

« 1200 hrs.

4 1400 hrs.

Question Number : 85 Question Id : 26544817285 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following statements about the Lotka-Volterra Model:

a. Both the populations of prey and predator oscillate sinusoidically.

b. There 1s a phase difference of n/2 between the prey and predator populations.
¢. Populations of prey and predator are directly proportional. to each other

d. Population of prey and predator are inversely proportional. to each other

Which of the above statements are correct?

Options:
1.4



(a) and (b) only

(a) and (c) only

2. %

(a) and (d) only
3. %

(b) and (d) only
4, %

Question Number : 86 Question Id : 26544817286 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
In the 2024 Environment Performance Index. which position did India secure among 180
countries?
Options :
176th

5 % 172nd

3 % 177th

180m
4, %

Question Number : 87 Question Id : 26544817287 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

How many Indian youths have been named recipients of the 2023 International Young
Eco-Hero Award?’

Options:

Three



Five

Eight

Ten

Question Number : 88 Question Id : 26544817288 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following statements:

I. Carbon Debt is the quantity of carbon emissions released by an entity.

IL. A Carbon Credit is equivalent to one ton of carbon dioxide removed from the
atmosphere.

[1I. Emussion Trading 1s permitted under the Kyoto Protocol.

Which of the statements given above are correct?
Options :

1 = land Il only

IT and IIT only

3 % I and IIT only

I. IT and III

Question Number : 89 Question Id : 26544817289 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



With reference to mangroves. consider the following statements:

I. They prevent salinity and seawater ingress into the inland agricultural areas.

IL. Barnacles and crabs promote their growth by attaching themselves to the young
seedlings.

III. Growth of the shrimp sector in India has helped i their conservation.

IV. State of West Bengal followed by Gujarat has the largest mangrove cover in India.

Which of the statements given above are correct?

Options:

I and IV only
1.
. IT and IIT only

L. IT and IV only

IIT and IV only

Question Number : 90 Question Id : 26544817290 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

With reference to freshwater ecology. which of the following are Lentic Ecosystems?
[. Swamps
II. Rivers
III. Bogs
IV. Springs
V. Ponds
Select the correct answer using the code given below,

Options :
I II and IV only
1. % i

IT and IV only
2. ®

I. ITT and V only
3.¢



LILOLIVandV

Question Number : 91 Question Id : 26544817291 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
What is the theme of COP-28?
Options :

Sustainable Development for All
1. %

Achieving Global Peace

Accelerating climate action for sustainable development
3.¥

Innovation for a Better Marine life

Question Number : 92 Question Id : 26544817292 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Kunming Declaration recently seen in news is related to

Options :

1 % Nuclear Disarmament

Prioritizing road safety
2. ®

Biodiversity Conservation
3.¢

Elimination and eradication of Malaria
4, %



Question Number : 93 Question Id : 26544817293 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Lignite. bituminous. sub-bituminous and anthracite are different ranks of:
Options :

1 % Nuclear fuel

5 Coal

Natural gas
3. %

Biogas
4, %

Question Number : 94 Question Id : 26544817294 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which among the following frequencies in microwave region of electromagnetic

spectrum 1s better suited for determination of tree height?

Options :
C-band (4-8 GHz)

1. %

X-band (8-12.5 GHz)

P-band (0.3 - 1.0 GHz)
3. %

K-band (18 - 26.5 GHz)
4. %

Question Number : 95 Question Id : 26544817295 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following and choose the correct option.

Column-I Column-IT
a. Pioneer community on lithosphere 1. lichens
b. Ecological succession ii. Mesophytes
¢. Climax community 1. Ecosystem development
d. Ecological pyramid 1v. Upright
Codes:
Options :
a-iii. b-1v, ¢-i1. d-1i
1.
a-1. b-i1. ¢c-111. d-1v
2. ®
a-1. b-111. c-11. d-1v
3.¢
a-1v. b-11. ¢c-1. d-1n1
4, %

Question Number : 96 Question Id : 26544817296 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The total number of Sustainable Development Goals (SDGs) announced by UN in 2015 are
Options :



Question Number : 97 Question Id : 26544817297 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The normal lapse rate in the atmosphere 1s
Options :
9.76°C/km

1. %

11.36°C/km

10.56°C/km

6.5°C/km
4. &

Question Number : 98 Question Id : 26544817298 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following and then choose the correct option

Column-I Column-II
a. Khasi and Jaintia hills Meghalaya 1. Advanced ex-situ conservation
b. Hotspot of India i1, Species found 1n a particular area only
¢. Endemism ii1. Sacred groove
d. Cryopreservation 1v. Western Ghats
Codes
Options:

| @ a-111. b-1v, c-11. d-1

a-1, b-11, c-111. d-1v
2. %



a-11. b-111. c-1v. d-1

a-1v, b-11. c-1. d-111

Question Number : 99 Question Id : 26544817299 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The GOI-UNDT sea turtle project aims to:
Options :

Promote turtle hunting

Study turtle genetics
2. ®

Develop sea turtle farming techniques
3. %

Conserve sea turtle populations and habitats
4, &

Question Number : 100 Question Id : 26544817300 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In which of the following zones of biosphere reserve. the human activities are completely
prohibited?
Options :

Transition Zone
1. ®

Buffer Zone

Core Zone
3.¥



Manipulation Zone
4, ®

Question Number : 101 Question Id : 26544817301 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Species distributions responded individualistically to environmental factors, and
communities were best regarded as arfifacts of the juxtaposition of species distributions
1e.. association 1s not an organism. scarcely even a vegetational unit. but merely a
coincidence, This concept was proposed by:

Options :

Concept of Gleason
1.4

Clementsian concept
2. %

Raunkiaer concept
3. %

Henry Cowles

Question Number : 102 Question Id : 26544817302 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following forests 1s known as the 'Lungs of the planet Earth'?

Options:

Taiga forest

Tundra forest
2. %

Amazon rain forest
3. v



Rainforests of North-East India

Question Number : 103 Question Id : 26544817303 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
What 1s the primary difference at the molecular level between organically produced food
and food produced using chemical fertilizers. considermg that protein is the nutrient
being consumed?

Options :
Organically produced food contains different amino acids compared to food
1% produced using chemical fertilizers.

The protein content in organically produced food is significantly higher than in
food produced using chemical fertilizers.

2. %

Organically produced food may have higher levels of antioxidants and
micronutrients. even though the protemn structure remains the same as food

produced using chemical fertilizers.
3.v

Food produced using chemical fertilizers contains harmful chemicals within the
protein molecules. which are absent in organically produced food.

4, %

Question Number : 104 Question Id : 26544817304 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which particulate size is most harmiul?

Options :

1.0pm or less

1.5um or less
2. ®



2.5um or less
3.¢

5.2pm- 2.5pum.
4,

Question Number : 105 Question Id : 26544817305 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which biome 1s characterized by low temperatures. little precipitation. and permafrost?

Options :

Tropical Ramnforest

) o Tundra

3 % Desert

Taiga

Question Number : 106 Question Id : 26544817306 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following is an example of a keystone species?

Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to
all candidates.

Options :

: Tiger

2. Deer



Sea otter
3.

Rabbit

Question Number : 107 Question Id : 26544817307 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following describes the relationship where both inferacting species benefit?

Options:

Parasitism

/ 1S
) o Mutualism

Commensalism
3. %

Predation

Question Number : 108 Question Id : 26544817308 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which factor primarily determines the distribution of terrestrial biomes?
1.  Precipitation
1.  Temperature
.  Soil type
1v.  Wind patterns
Options:

1 and 1

1 and 111



111 and 1v

1v only
4, %

Question Number : 109 Question Id : 26544817309 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Chemical weathering 1s more dominant in the areas of
Options :

arid climate
1. %

humid climate

temperate climate

polar climate

Question Number : 110 Question Id : 26544817310 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is a mechanical weathering process?

Options :
Oxidation
1. %
Hydrolysis
2. %

Frost wedging
3.¢



Carbonation

Question Number : 111 Question Id : 26544817311 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The distribution often used to model counts of rare events 1s:

Options :

Normal distribution

., Log-normal distribution

Poisson distribution
3. v

Binomial distribution

Question Number : 112 Question Id : 26544817312 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The primary agent of erosion responsible for shaping deep valleys and canyons is:
Options :

Glaciers
1. %

Wind
2. %

Rivers



Question Number : 113 Question Id : 26544817313 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following

List I List IT
(Sphere of the Earth) (Main constituent of the sphere)
a. Lithosphere 1. Living objects
b. Hydrosphere 1. Mixture of gases
c. Atmosphere 1. Water
d. Biosphere iv. Soil
Codes
Options :

a-1v, b-1i1. c-11, d-1
1.¢

a-1, b-11. ¢-111. d-1v

2. %

a-i1, b-111. c-1v, d-1
3. %
4% a-1v. b-11. ¢-1. d-111

Question Number : 114 Question Id : 26544817314 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Maximum concentration of hydroxyl radical in earth's atmosphere is observed at
Options :
the equator. in middle of troposphere

1.¢

the poles. in middle of troposphere
2. %

the equatorial surface
3. %



the Tropic of Cancer

Question Number : 115 Question Id : 26544817315 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The Global Climate Strike. which took place from 20 September 2019 to 27 September

2019, was organized by:

Options :

Sunday for Future

Friday for Future

Tuesday for Future
3. %

Thursday for Future

Question Number : 116 Question Id : 26544817316 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Mean life of a radioactive sample 1s 100s. Then, its half-life 1s

Options:
0.693

10-4

4 x 1155



Question Number : 117 Question Id : 26544817317 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Under which rule of Government. guidelines for solid waste management are followed
today?

Options :

Municipal Solid Waste Rules. 2017

5 % Municipal Solid Waste Rules. 2018

Solid Waste Rules. 2000

. Solid Waste Management Rules. 2016

Question Number : 118 Question Id : 26544817318 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The volume of 0.1M KMnO4 1s needed to oxidise 100 mg of ferrous oxalate in acidic
medium?

Options :

1. ¢ 417 mL

> % 321 mL

5.00 mL

5.6 mL
4. %

Question Number : 119 Question Id : 26544817319 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



LEED. one of the Sustainable Habitat green rating systems. refers to:

Options :

Leadership in Energy and Efficiency Design

5 % Leadership in Energy and Efficiency Document

P Leadership in Energy and Environment Design
3. %

Leadership in Energy and Environment Document
4. %

Question Number : 120 Question Id : 26544817320 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following columns of protected animals with the national parks based on its
endemicity and conservation.

Column-I Column IT
(Protected Animals) (National Parks)
a. Lion 1. Kaziranga National park
b. Tiger 1. Khangchendzonga National park
¢. Snow Leopards 11. Gir National park
d. Rhinos 1v. Bandipur national park
Codes :
Options :

a-111. b-1v, c-i1. d-1
1.¢

a-1v, b-11, c-u1. d-1
a-i1, b-1i1, ¢-1v, d-1

3. %

a-1v, b-11. c-1. d-111



Question Number : 121 Question Id : 26544817321 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The primary radioactive nuclides released in the Fukushima Daichi (Japan) nuclear
disaster, were-

Options :

Fluorine & Calcium

5 % Oxygen 18 & Barium 3

Iodine-131 & Chlorine 5

lodine-131 & Cesium-137
4, &

Question Number : 122 Question Id : 26544817322 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The average composition of Municipal solid waste 1s:
Options :

| 41% organic. 40% inert & 19% recyclable

20% organic. 60% inert & 20% recyclable

2. ®
_ 30% organic. 20% mert & 50% recyclable
3. % . 4
19% organic, 41% inert & 40% recyclable
4, %

Question Number : 123 Question Id : 26544817323 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Which soil order is associated with peat or muck and common i wetlands?

Options :
- gelisols
histosols
2.9
~ entisols
3. %

4w mollisols

Question Number : 124 Question Id : 26544817324 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following bacterial species convert NO, to NO3?
Options :

Nitrosomonas

Nitrobacter

Rhizobium
3. ®

Azospirillum
4, ®

Question Number : 125 Question Id : 26544817325 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A wetland ecoystem has a very high Biological Oxygen Demand (BOD). Which of the
follow statement about such a wetland 1s correct?

Options :



It has high level of microbial pollution.
1.4

It has very low level of microbial pollution.

2. %

There is no microbial pollution.
3. %

It 1s highly turbid.
4, ®

Question Number : 126 Question Id : 26544817326 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major source of mercury pollution in India?

Options:

Coal based thermal power plants

Pesticides manufacturing

Dental amalgam fillings
3. %

Electrical and electronic gadgets

Question Number : 127 Question Id : 26544817327 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the long form of FTIR spectroscopy?
Options :

_— Fourier Transform infrared spectroscopy



5 % Fourier Transformation infrared spectroscopy

Fourier Transform mfrared spectrometry

Fourier Transform infrared spectrophotometry

Question Number : 128 Question Id : 26544817328 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A local population genetically. structurally and functionally adapted to 1ts local
environment is called

Options :

| » ccotype

ecophene
2. %

ecad

ecocline
o

Question Number : 129 Question Id : 26544817329 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Reed swamp stage' 1s also referred to as

Options :

submerged stage
1. %

woodland stage
2. %

rooted floated stage
3. %



amphibious stage
4. ¢

Question Number : 130 Question Id : 26544817330 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The first national park established in India is

Options:

Kaziranga National Park
1. %

- The Jum Corbett National Park

Hazaribagh National Park
3. %

Gir National Park

Question Number : 131 Question Id : 26544817331 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is a nominal variable?

Options :

Level of rainfall (Mild. Moderate. Severe)
1. %

Dogs Breeds (German shepherd. Bulldog. Labrador)
2.9

Height of a tree
3. %

4% Socio-economic status (Low. Middle. High)



Question Number : 132 Question Id : 26544817332 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A hypothesis. that predicts a linear relationship in which rate of ecosystem processes is
maximum with greatest number of species, 1s known as. ..

Options :

Diversity-stability hypothesis.
1.4

Redundancy hypothesis.

2. %
Rivet-popper hypothesis.
Idiosyncratic hypothesis.
4, ®

Question Number : 133 Question Id : 26544817333 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following columns of different parameters with method of detection.

Column I Column II
a. Lead 1. Winkler Method
b. Dissolved oxygen i1. Gravimetric Method
c. SOy 1. GC-MS
d. PAH 1v. West Gaeke Method
Codes :

Options :

a-11. b-1, c-1v. d-i11
1.4

a-1v, b-11. c-111. d-1
2. %

a-11. b-111. ¢-1v. d-1
3. %



a-1v. b-11. ¢-1. d-111

Question Number : 134 Question Id : 26544817334 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Slip off slope" and "Under outside are associated with

Options :
Glacial terrace of glaciated region

1. %

Pedestal rock of wind

3 % Weathering

Meandering of river
4.9

Question Number : 135 Question Id : 26544817335 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the name of scientists listed under column I with the 1deas listed under column 1T

column I column IT
a. Darwin 1. Use and disuse of organs
b. Oparin ii. Continental drift theory
¢. Lamarck ii. Evolution by natural selection
d. Wagner iv. Abiogenesis
Codes :
Options :

a-ii1. b-1v. c-1. d-11
1.v

. a-1v. b-11. ¢-1i1. d-1
2. %



a-i1. b-1i1. c-1v, d-1

4 % a-1v, b-11. c-1. d-i11

Question Number : 136 Question Id : 26544817336 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Mahanadi river dispute is between

Options :

Karmataka-Tamil Nadu

« Maharashtra-Karnataka

Chhattisgarh-Madhya Pradesh
3. %

Chhattisgarh-Odisha
4. &

Question Number : 137 Question Id : 26544817337 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Under the Air Act. 1981. which body 1s empowered to set standard for ambient air
quality?

Options :

_ MOEFCC
1. %

Ministry of Home Affairs
2. %

3  Central Pollution Control Board (CPCB)



State Ministry of Home Affairs

Question Number : 138 Question Id : 26544817338 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The rapid downslope movement of ice of snow is called as

Options:
Mudtlow

Solifluction
2. %

Lahars

Avalanches
4, &

Question Number : 139 Question Id : 26544817339 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
'Red Data Book' is published by

Options :
1 ¢ IUCN
WWF
2. %
BNHS

Green Peace



Question Number : 140 Question Id : 26544817340 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Assertion(A) :  Pyramid of energy may be upright or inverted.
Reason (R):  Only 10% of energy goes to next Trophic level.
Read the Assertion (A) and Reason (R) carefully to mark the correct option out of the

options given below.

Options :

Both A and R are true and R is the correct explanation of A

Both A and R are true. but R is not the correct explanation of A
2. %

A 1s true. but R 1s false
3. %

A 1s false. but R is true
4, &

Question Number : 141 Question Id : 26544817341 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The term benthos refers to communities which grow attached

Options :

on the bark of trees

on submerged plants

at the bottom of a water body
3.¢

on submerged woody roots



Question Number : 142 Question Id : 26544817342 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A niche of the species where there 1s no competition from other species is called

Options:

- hyper volume niche

habitat
2. %

fundamental niche
3. ¥

realized niche

Question Number : 143 Question Id : 26544817343 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The change 1n species composition that 1s imposed by factors external to the biotic
community 1s known as

Options :

Autogenic succession
1. %

Allogenic succession
2. ¥

Xerarch

Hydrarch



Question Number : 144 Question Id : 26544817344 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The Vienna Convention is basically related to:

Options :

International trade in endangered species
1. %

Protection of O3 layer
2. ¥

Biodiversity conservation
3. %

Preservation of cultural environment

Question Number : 145 Question Id : 26544817345 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which statistical test is appropriate for comparing means of two independent groups?

Options :

Chi-squared test
1. %

F-test

f-test

ANOVA

Question Number : 146 Question Id : 26544817346 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Wind rose represents statistical distribution of

Options :

Wind velocity in vector form
1.9

Wind speeds in scalar form

2. %

Wind speeds in a diagram
3. %

Wind speeds in the form of histograms
4, %

Question Number : 147 Question Id : 26544817347 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which one of the following has maximum destruction and removable efficiency?
Options :
Incineration

1.4

Biological Treatment

2. %

Chemical Treatment.
3. %

Landfill
4, %

Question Number : 148 Question Id : 26544817348 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



What does the term 'MIKE' stands for?
I. Monitoring of Illegal Killing of Elephants
I1. Monitoring of Illegal Killing of Eagles

III. Monitoring of Illegal Killing of Endangered Species

Options :

[ only
1.+ *

IT only
2.

II and III only
3. %

I. IT and III
4. %

Question Number : 149 Question Id : 26544817349 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which one of the following protozoan is related to water borne disease?
Options :

Spumella sp.

1. %
Entamoeba histolvtica
2.V
Paramoecium
3. %

Plasmodium vivax
4, #



Question Number : 150 Question Id : 26544817350 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

NEERI is situated at. ..
Options :

Bhopal

New Dellu

Baroda

Nagpur





